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5-Band Code

6-Band Code

Example of Caleulating Tolerance:
Multiply the resistor by the tolerance: 47 000 Ohms x 10% or 0.10 = 4700
Add and subtract the amount: 47 000 + 4700 = 51700 OR 47000 - 4700 = 42 300
47 000 Ohm resistor maybe any value between 51 700 to 42 300 Ohms.

Tempco:
If there is a 6th band, it is called "tempco” or a temperatures compensating resistor.
1t will indicate how well the resistor handles heat.
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Tempco
(ppm/degree
C)

Green x100 000

Blue 6 x1 000 000 =/ 5%
Violet 7 x 10 000 000 =/-0.10%
8 x 100 000 000 =/~ 0.05%

10%

Mncumonic to help remember the order of the colors:
Big Brown Rabbits Often Yicld Great Big Vocal Groans When Gingerly Slapped





